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HEBHEXRDY BEENEZARE FE1SOsHR (M)

(B)Ei26FE4818 (B)E/27€3A31H HEEILEABERILS
ENERH AERHL R REBLR BEXRXSE
EESEE PN 106,202,612 0 106,202,612
& AR BB ULA 0
= I |RERESHSILA 1,627,560 1,627,560
= A |ZEASEYEIA 2,720 8,156 0 0 10,876
= ZDHDURA 25,000 227,920 0 252,920
lEJJ EEFHRATA) 27,720 108,066,248 0 0 108,093,968
- ANGEEZH 79,582,679 0 79,582,679
; EEETH 15,116,572 0 15,116,572
z X |BEHEEXH 148,640 20,335,295 0 0 20,483,935
% B XGRS H 0
% B EETMEEICL3EERE 0
SEEFETHE(2) 148,640 115,034,546 0 0 115,183,186
EEEDESNEZEEB)=(1)-(2) A 120,920 A 6,968,298 0 0 A 7,089,218
i MBI HEEHBEILA 0
B ™ HERBEFESFMAESIA 0
® A MEERBHEEFE/ASIIA 0
fis EE & ST GEHIURA) 0
= BREEHEFIAG Q) 0 0 0 0 0
< REEEEBAETEEETH 0
& | X [BIEEERSXEH 0
5 | H |BEEERA-BREXH 0
Uy B EESE X HE(5) 0 0 0 0 0
X BREREETINESH(6)=(4)-(5) 0 0 0 0 0
< REEEELEALTLEESTHSIA 0
D IR BN ELEAULA 5,000,000 5,000,000
ftt A A X REREASIA 0
) ZDHDEENZLDUINA 0
b ZTOHDFESIRAE (7) 0 5,000,000 0 0 5,000,000
E)| RHEMEXH 0
Iz ¥ BANEEXH 1,279,152 0 1,279,152
& m WEX S EEAEIH 0
% ZTDRMDEEICKEZ 0
Uy TRHDESZ HE (8) 0 1,279,152 0 0 1,279,152
X %wiﬂzwiﬁti&)ﬂni%ﬁ(g) =(7)-(8) 0 3,720,848 0 0 3,720,848
i 10 0
LPESRTETE(11)=(3)+(6)+(9)-(10) A 120,920 A 3247450 0 0 A 3368,370
AR ZIERZES (12) 10,527,054 7,339,148 0 0 17,866,202
LB & e (11)+(12) 10,406,134 4,001,608 0 0 14,497,832




